REPORTING CATEGORY 1
G.1B (S)
[image: ]G.1C (S)
G.2A (S)
1. 
A bisector of contains which line segment?
A. 

B. 

C. 

D. 


2. 
[image: ]Which point lies on the bisector of angle ?
A. 
B. 
C. 
D. 

3. [image: ]A straightedge and compass were used to create the construction below. Arc EF was drawn from point B, and arc with equal radii were drawn from E and F. Which statement is false?
A. 

B. 

C. 

D. 

G.2B (R)
1. [image: ]The figure below was formed by joining 2 segments of equal length at common endpoint . If points , , and are non-collinear, which of the following statements regarding  must always be true?
A. 

B. 

C. 

D. 
 
[image: ]
2. If lines  and  are parallel, what is the value of x?
A. 120
B. 115
C. 65
D. 60
3. 
[image: ]Which line segment is congruent to ?
A. 

B. 

C. 

D. 


4. 


[image: ]In this figure,  and . What is ?
A. 31°
B. 65°
C. 85°
D. 115°

5. Which figure has all sides of equal measure but not necessarily all angles of equal measure?
A. Square
B. Rectangle
C. Rhombus
D. Trapezoid
[image: ]
6. This figure is a traffic sign in the shape of a regular octagon. What is the value of x?
A. 45
B. 60
C. 135
D. 180

7. A regular quadrilateral has what type of symmetry?
A. Line symmetry only
B. Point symmetry only
C. Both point and line symmetry
D. Neither point nor line symmetry

8. [image: ]According to the map, the road connecting the cities of Oakton (O) and Ridgeton (R) intersects the road connecting Maple View (M) and Pineville (P). If the roads intersect in the town of Forest Grove (F) in the diagram, which statement is always true?
A. 

B. 

C. 

D. 




9. 
Triangle PQR has angles in the ratio of 2:3:5. Which type of triangle is ?
A. Acute
B. Isosceles
C. Obtuse
D. [image: ]Right

10. 
Which angle is vertical to ?
A. 

B. 

C. 

D. 

G.3A (S)
1. Statement: If lines are skew, then they are not coplanar. Which of the following is the contrapositive of the statement?
A. If lines are not coplanar, then they are skew.
B. If lines are not skew, then they are coplanar.
C. If lines are coplanar, then they are not skew.
D. If lines are skew, then they are coplanar.

2. What is the inverse of the statement in the box? 
A. [image: ]If a polygon is not regular, then it is not convex. 
B. If a polygon is convex, then it is regular. 
C. If a polygon is not regular, then it is convex. 
D. If a polygon is not convex, then is it not regular. 

3. [image: ]What is the converse of the statement in the box? 
A. If there is no school today, then today is Saturday. 
B. If there is school today, then today is not Saturday.
C. If today is not Saturday, then there is school today.
D. If today is not Saturday, then there is no school today.
G.3B (S)
1. [image: ]Which of the following statements MUST be true about this Venn diagram?
A. All rectangles are rhombi.
B. Some rhombi are rectangles.
C. Quadrilaterals are not rhombi or rectangles.
D. All quadrilaterals are rhombi and rectangles.



2. [image: ]What is the best description of the solid figure shown below?
A. A regular polygon
B. A convex polygon
C. A regular polyhedron
D. A nonregular polyhedron

3. 
[image: ]In the diagram below, is perpendicular to plane AEFG. Which plane must be perpendicular to plane AEFG?
A. ABCE
B. BCDH
C. CDFE
D. HDEG

4. Plane A is parallel to plane B. Plane C intersects plane A in line m and intersects plane B in line n. Lines m and n are 
A. Intersecting
B. Parallel
C. Perpendicular
D. Skew

5. Given three distinct quadrilaterals, a square, a rectangle, and a rhombus, which quadrilateral must have perpendicular diagonals?
A. The rhombus only
B. The rectangle and square
C. The rhombus and square
D. The rectangle, rhombus and square

6. [image: ]What type of figure is shown?
A. Convex hexagon
B. Convex pentagon
C. Concave hexagon
D. Concave pentagon

7. 
[image: ]Triangle RST is an acute triangle. Which measurement could be the length of ?
A. 12 cm
B. 15 cm
C. 20 cm
D. 24 cm


G.3C (R)
1. [image: ]A geometry student concluded: 



[image: ]Which diagram can be used as a counterexample to the student’s conclusion?







2. Stephen, Jon, and Pablo finished the 200-meter dash in the first three places. If Jon finished before Stephen, and Stephen did not finish 3rd, in which order did Stephen, Jon, and Pablo finish?
A. Jon, Stephen, Pablo
B. Jon, Pablo, Stephen
C. Stephen, Pablo, Jon
D. Stephen, Jon, Pablo
G.3D (S)
G.3E (S)
1. Which set of statements represents a valid deductive argument?
A. All quadrilaterals have 4 angles.
All parallelograms have 4 angles.
All quadrilaterals are parallelograms.
B. All parallelograms have diagonals that bisect each other.
All parallelograms have opposite sides that are parallel.
All polygons whose diagonals bisect each other have opposite sides that are parallel.
C. All rectangles have 4 right angles.
All squares have 4 right angles.
All rectangles are squares.
D. All parallelograms have 4 sides.
All polygons with 4 sides are quadrilaterals.
All parallelograms are quadrilaterals.

REPORTING CATEGORY 2
G.4A (S)
1. Based on the coordinates E(-2, -3), F(3, -3), G(6, 1), H(3, 5), I(-2, 5), and J (1, 1), what best describes polygon EFGHIJ?
A. Equilateral convex
B. Equilateral concave
C. Equiangular concave
D. Equiangular convex

2. The statement “x is a multiple of 3, and x is an even integer” is true when x is equal to
A. 9
B. 8
C. 3
D. 6

3. What is an equation of the circle with a radius of 5 and center at (1, -4)?
A. 

B. 

C. 

D. 

G.5A (R)
1. 
[image: ]In each of the circles below, four angles are formed by the intersection of 2 secant lines. The measures of two intercepted arcs and one angle are shown for the first three circles. Which expression can be used to represent in degrees?





A. 

B. 

C. 

D. 


2. [image: ]Lines m and r are cut by a transversal. What value of x will show that line m is parallel to line r?
A. 20
B. 24
C. 25
D. 33

3. 


M is the midpoint of , , and . What is RS?
A. 20
B. 17
C. 10
D. 3
[image: ]
4. 
Given parallelogram EFGH, what is the length of side ?
A. 27
B. 21
C. 19
D. 7

5. 



Given is bisected by, , and . What is the value of r?
A. 15
B. 30
C. 36
D. 72

6. 

[image: ]Given  What is the length of ?
A. 2
B. 7
C. 12
D. 19
[image: ]
7. 
In the diagram below, . Which statement must be true?
A. 

B. 

C. 

D. 


G.5B (S)
1. 
[image: ]Which list has the sides of ordered from longest to shortest?
A. 

B. 

C. 

D. 


2. 
Three survey markers are located on a map at points , , and . A triangle is formed by connecting these markers by string so that  =150 feet,  = 245 feet, and  = 365 feet. Which statement is true about the measures of the angles of ?
A. 
is the smallest
B. 
is the largest
C. 
is the smallest
D. 
is the largest

3. Two sides of a triangle measure 14 inches and 8 inches. Which cannot be the length of the remaining side?
A. 6 in.
B. 8 in.
C. 14 in.
D. 21 in.

4. [image: ]This figure shows a pattern of triangles and regular hexagons. What is the value of x?
A. 30
B. 60
C. 90
D. 120
[image: ]
5. 
In the figure shown, what is ?
A. 45°
B. 107°
C. 120°
D. 135°

6. 


[image: ]is a rhombus with . What is ?
A. 14°
B. 28°
C. 30°
D. 56°
7. 


[image: ]In the figure below, bisects . What is ?
A. 85
B. 53
C. 42.5
D. 26.5

8. 


[image: ]In the diagram below, and .What is ?
A. 70
B. 110
C. 140
D. 150

9. What is the measure of an interior angle of a regular polygon with 16 sides?
A. 22.5°
B. 25.7°
C. 157.5°
D. 205.7°

10. 


is a parallelogram. If , what is ?
A. 40
B. 50
C. 140
D. 150
[image: ]
11. 

In the figure below, . What is ?
A. 60
B. 90
C. 120
D. 240

12. 





[image: ]is the bisector of and is the bisector of . If , what is ?
A. 53.0
B. 79.5
C. 106.0
D. 132.5

13. 
[image: ]How long is ?
A. 20 ft
B. 25 ft
C. 30 ft
D. 35 ft

14. 
[image: ]Figure is a parallelogram. What is the value of x?
A. 65°
B. 55°
C. 45°
D. 35°

15. What is the measure of an interior angle of a regular hexagon?
A. 45°
B. 60°
C. 120°
D. 135°

16. 

[image: ]In the diagram below of , side is extended to point A. Which statement must be true?
A. 

B. 

C. 

D. 


17. The diagonals of a quadrilateral are congruent but do not bisect each other. This quadrilateral is
A. An isosceles trapezoid
B. A parallelogram
C. A rectangle
D. A rhombus

18. What is the measure of each interior angle of a regular hexagon?
A. 60°
B. 120°
C. 135°
D. 270°


G.5C (S)
1. [image: ]Jake took pictures of Ana’s flag while she was practicing her routine for the football game, as shown below. Which of the following best describes the movement of the flag from picture to picture?
A. Reflection, rotation, translation
B. Rotation, translation, translation
C. Rotation, translation, dilation
D. Reflection, translation, translation

2. Which line of reflection maps point  at (-2, 2) to point  at (2, -2)?
A. 

B. 

C. 

D. 
[image: ]

3. Which transformation could move the triangle P to triangle P’ in a single step?
A. 
Reflection over 
B. Rotation about (2, 3)
C. 
Reflection over 
D. Translation

[image: ]
4. 
Figure is symmetric with respect to the x-axis. The coordinates of point A are (8, 6). What are the coordinates of point N?
A. (8, -6)
B. (6, -8)
C. (-6, 8)
D. (-8, 6)

5. [image: ]Ethan drew this shape of the coordinate system. He wants to use a transformation that will change the position of the shape. Which transformation should Ethan perform?
A. Reflection across the x-axis
B. Reflection across the y-axis
C. Rotation of 90° clockwise about the origin
D. Rotation of 180° counterclockwise about the origin

6. 


A translation is applied to , forming . If the translation is described by , which graph show the translation correctly?
[image: ]


















[image: ]
7. 
If is rotated 180° about the origin, what will be the coordinates for the image of M?
A. (5, 5)
B. (5, -5)
C. (-5, 5)
D. (-5, -5)






8. 

[image: ]In the graph below,  is the image produced by applying a transformation to . Which rule describes the transformation?
A. 

B. 

C. 

D. 


G.5D (R)
1. [image: ]When viewed from above, the base of a water fountain has the shape of a hexagon composed of a square and 2 congruent isosceles right triangles, as represented in the diagram below. Which of the following measurements best represents the perimeter of the water fountain’s base in feet?
A. 

B. 

C. 

D. 

[image: ]
2. In the figure, what is the value of x?
A. 6
B. 

C. 

D. 12

3. A rectangular rug is 24 feet long and 10 feet wide. A rhombus design is formed inside the rug by joining the midpoints of each side of the rectangle. What is the length of each side of the rhombus?
A. 13 ft
B. 26 ft
C. 169 ft
D. 240 ft

4. 


and are perpendicular diameters of a circle. They are each 12 inches long. What is the approximate length of chord ?
A. 17 in. 
B. 12 in. 
C. 10.4 in.
D. 8.5 in.
5. A plane intersects a sphere that has a radius of 13 cm. The distance from the center of the sphere to the closest point on the plane is 5 cm. What is the radius of the circle that is the intersection of the sphere and the plane?
A. 8 cm
B. 10 cm
C. 12 cm
D. [image: ]13 cm

6. A right triangle is shown below. What is the approximate value of h?
A. 100 meters
B. 115 meters
C. 140 meters
D. 173 meters


REPORTING CATEGORY 3
G.6A (S)
1. [image: ]A side view of the intersection of a plane and a square pyramid is modeled below. Which of the following best represents the shape formed by this intersection? 
[image: ]




G.6B (S)
1. [image: ][image: ]Which of these nets would form a cube when folded?







2. [image: ]Which pattern would fold to make a pyramid with a square base?
[image: ]




3. [image: ]Kevin’s teacher gave him the following pieces of cardboard. Which polyhedron can Kevin build using some or all of these pieces?
A. Triangular prism
B. Rectangular prism
C. Triangular pyramid
D. Square pyramid

4. [image: ]Which net best represents a cube?
[image: ]










G.6C (S)
1. [image: ]The three dimension figure shown is composed of 11 identical cubes. Which of the following could not represent a top, front, or side view of the figure? 
[image: ]





2. [image: ]A right cone is placed on its circular base. Which statement about the cone is incorrect?
A. The view from the front is a triangle.
B. The view from the bottom is a circle.
C. The view from the top is a circle.
D. The view from the left is a rhombus.

G.7A (S)
1. 




Parallelogram has coordinates ,,, and . Which ordered pair represents the intersection of the diagonals of this parallelogram? 
A. (2, 0)
B. (3, 0)
C. (3, 1)
D. [image: ](4, -1)
G.7B (R)
1. 

is graphed on the coordinate grid below. Which of the following equations best represents the perpendicular bisector of ?
A. 

B. 

C. 

D. 


2. 



In rectangle , the slope of is . What is the slope of ?
A. -2
B. 

C. 

D. 2

3. 
Which equation represents the line parallel to the line whose equation is and passing through the point (2, 2)?
A. 

B. 

C. 

D. 


4. 
What is the slope of a line perpendicular to the line represented by the equation ?
A. -2
B. 2
C. 

D. 

5. 
Which equation represents the perpendicular bisector of whose endpoints are A(8, 2) and B(0, 6)?
A. 

B. 

C. 

D. 
[image: ]

6. Kendra drew line p on this coordinate system. Which equation represents a line that is parallel to the line that Kendra drew?
A. 

B. 

C. 

D. 

G.7C (R)
1. 
If the coordinates of  are (1, 1) and the midpoint of is (-2, 0), then the coordinates of  are -
A. (-0.5, 0.5)
B. (0.5, 0.5)
C. (-1, 0)
D. (-5, -1)

2. What is the length of the line segment whose endpoints are (1, -4) and (9, 2)?
A. 5
B. 

C. 10
D. 


3. Segment AB is the diameter of circle M. The coordinates of A are (-4, 3). The coordinates of M are (1, 5). What are the coordinates of B?
A. (6, 7)
B. (5, 8)
C. (-3, 8)
D. (-5, 2)


REPORTING CATEGORY 4
G.8A (R)
1. A garden has the shape of an isosceles right triangle. The length of the hypotenuse is 24 feet. What is the area of the garden?
A. 576 ft2
B. 288 ft2
C. 203 ft2
D. 144 ft2
[image: ]
2. Katie, a gardener, needs to put grass seeds on the triangle formed by the 3 roads below. Each side of the grass triangle is 350 ft. long. If one bag of seed covers 10,000 ft2, how many bags will Katie need to buy?
A. 5
B. 6
C. 7
D. 8

3. The perimeter of a regular hexagon is 48 ft. What is the approximate area of this polygon?
A. 288 ft2
B. 166 ft2
C. 96 ft2
D. 28 ft2

4. The perimeter of a square, in centimeters, is equal to the circumference of a circle in centimeters. The radius of the circle is 3 centimeters. To the nearest square centimeter, what is the area of the square? (use 3.14 for π)
A. 6 cm2
B. 19 cm2
C. 22 cm2
D. 50 cm2

5. [image: ]The diagram shows the dimensions of a parking space in the shape of a parallelogram. What is the approximate area of the parking space?
A. 62.6 square feet
B. 120.2 square feet
C. 147.2 square feet
D. 170.0 square feet


G.8B (S)
1. What is the approximate area of a 70° sector of a circle with a radius of 8 inches?
A. 5 in2
B. 10 in2
C. 39 in2
D. 156 in2
[image: ]
2. 
In this circle, M is the center, and is a diameter. What is the measure of arc NT?
A. 65°
B. 90°
C. 130°
D. 210°
G.8C (R)
1. Given the following measures of the sides of triangles, which is a right triangle?
A. 41 cm, 40 cm, 9 cm
B. 45 ft, 40 ft, 35 ft
C. 52 in, 50 in, 11 in
D. 45 yd, 35 yd, 25 yd
[image: ]
2. 

is a right triangle. Which is closest to the length of ?
A. 5
B. 11
C. 14
D. 28

3. The ratio of the height of the pyramid to the edge of the square base is 1.5 to 1. The height of the pyramid is 3 meters. What is the approximate length of the slant height of the pyramid?
A. 4.4 m
B. 3.2 m
C. 2.8 m
D. 1.4 m

4. [image: ]In the diagram below, AP is tangent to circle O at point A, OB=7 and BP=18. What is the length of AP?
A. 10
B. 12
C. 17
D. 24

5. [image: ]As shown in the diagram below, a kite needs a vertical and a horizontal support bar attached at opposite corners. The upper edges of the kite are 7 inches, the side edges are x inches, and the vertical support bar is (x+1) inches. What is the measure, in inches, of the vertical support bar?
A. 23
B. 24
C. 25
D. 26

6. 


[image: ]In the diagram below of circle O, diameter is perpendicular to chord at point E, OA=6 and OE=2.  What is the length of ?
A. 

B. 

C. 

D. 

G.8D (R)
1. A cone has a slant height of 10 centimeters and a lateral area of 60π square centimeters. What is the volume of a sphere with a radius equal to that of the cone?
A. 102π cm3
B. 144π cm3
C. 288π cm3
D. 1,333π cm3

2. A regular tetrahedron is a triangular pyramid. What is the total surface area of a regular tetrahedron with base edges of 7 cm?
A. 
cm2
B. 
cm2
C. 
cm2
D. 
cm2

3. A cone has a radius of 12 cm and a height of 9 cm. What is the approximate lateral surface area of the cone? 
A. 89 cm2
B. 123 cm2
C. 424 cm2
D. 565 cm2

4. [image: ]A plastic tray is shown below, with the dimensions labeled. The tray does not have a cover on top. The bottom and two of the sides are rectangles. The remaining two sides are congruent isosceles trapezoids. What is the total area of the outer surface of the tray?
A. 495 cm2
B. 584 cm2
C. 615 cm2
D. 975 cm2

5. A container in the shape of a rectangular prism has a base that measures 20 centimeters by 30 centimeters and has a height of 15 centimeters. The container is partially filled with water. A student adds more water to the container and notes that the water level rises 2.5 cm. What is the volume of the added water?
A. 1,500 cm3
B. 3,600 cm3
C. 4,500 cm3
D. 9,000 cm3

6. 
What is the approximate surface area of a right hexagonal prism with a base perimeter of 96 meters and a height of 10 meters? Use , where a is the apothem of the base, p is the perimeter of the base, and h is the height of the prism. 
A. 3620 m2
B. 2290 m2
C. 1728 m2
D. 1625 m2

7. [image: ]A packing carton in the shape of a triangular prism is shown in the diagram below. What is the volume, in cubic inches, of this carton?
A. 20
B. 60
C. 120
D. 240

8. Heather uses a cone-shaped bag to hold hot chocolate mix. The bag has a height of 18 centimeters and a radius of 3 centimeters. What is the volume of the hot chocolate mix in terms of π?
A. 36π cm3
B. 54π cm3
C. 108π cm3
D. 162π cm3
G.8E (S)
1. [image: ]A rectangle contains two inscribed semicircles and a full circle, as shown below. If a point is chosen at random inside the rectangle, what is the approximate probability that the point will also be inside the shaded region?
A. 85%
B. 79%
C. 75%
D. 50%

2. [image: ]In order to win a game, Sheila must spin a 7 on the spinner below. If the spinner is fair, what is the probability that she will spin a 7?
A. 

B. 

C. 

D. 


3. 

A number line is shown below. Point P will be picked at random on . What is the probability that P will be on ?
A. 
[image: ]
B. 

C. 

D. 

G.8F (S)
1. [image: ]Half of an international basketball court is shown below. The shaded region is composed of an isosceles trapezoid and a semicircle. The diameter of the semicircle is 3.6 meters.  If 1 meter is approximately equal to 3.28 feet, which of the following is closest to the area of the shaded region in square feet?
A. 32.9 ft2
B. 409 ft2
C. 354 ft2
D. 108 ft2


[image: ]G.9A (S)
1. 

For what measure of is in this figure?
A. 26°
B. 59°
C. 69°
D. 95°

2. [image: ]In the figure shown, line q is a transversal of parallel lines l, m, n, and p. What are the values of x and y?
A. 

B. 

C. 

D. 

[image: ]
3. 
In the figure shown, parallel lines j and k are cut by transversal m. What is ?
A. 32°
B. 58°
C. 122°
D. 148°

[image: ]
4. 
Lines y and z are cut by a transversal. For what value of x is ?
A. 13
B. 77
C. 103
D. 154


5. [image: ]This figure represents line segments painted on a parking lot to create parking spaces. Which equation can be used to show that these line segments are parallel?
A. 

B. 

C. 

D. 


6. 


[image: ]In the diagram below, and . What is ?
A. 39
B. 47
C. 51
D. 129


7. [image: ]In the diagram below, lines n and m are cut by transversals p and q. Which value of x would make lines n and m parallel?
A. 110
B. 80
C. 70
D. 50
[image: ]
8. 
Transversal t cuts parallel lines m and n. What is the measure of ?
A. 118°
B. 121°
C. 152°
D. 162°

9. 

[image: ]Which statement must be true aboutandin order for line m and line n to be parallel?
A. Their measures must be equal.
B. Their measures must be supplementary.
C. Their measures must be complementary.
D. 

The measure ofmust be greater than the measure of.
G.9B (S)
1. 
In quadrilateral. Which of the following statements is a reasonable conclusion?
A. 

B. 
Quadrilateral is a rectangle.
C. 
Quadrilateral is an isosceles trapezoid.
D. 

[image: ]G.9C (S)
1. 
In the circle, what is the measure of ?
A. 30°
B. 60°
C. 120°
D. 140°
2. 
[image: ]What is in circle A?
A. 17
B. 34
C. 56
D. 68

3. [image: ]Two chords intersect with the measures shown in the drawing. What is the value of x?
A. 8.0
B. 9.5
C. 10.0
D. 14.5

4. 
The slope of a line tangent to a circle is . What is the slope of the line that passes through the point of tangency and the center of the circle?
A. 

B. 

C. 

D. 


5. 
[image: ]Circles P, Q, and R are shown below. The diameter of circle R is 22. What is the length of ?
A. 25
B. 34
C. 39
D. 50

6. 

[image: ]In circle O shown below, . What kind of triangle is ?
A. Right
B. Acute
C. Obtuse
D. Scalene

7. 
Lines t, m, and n are tangent to the circle at W, Y, and X. What is the measure of ?
A. [image: ][image: ]100°
B. 110°
C. 120°
D. 130°
[image: ]G.9D (S)
1. Which type of polyhedron is shown?
A. Decahedron
B. Dodecahedron
C. Hexahedron
D. Pentahedron
[image: ]G.10A (S)
1. 


Coordinates A (2, 5), B (6, 4), and C (6, 0) are connected to form . If is congruent to , what are the coordinates of D?
A. (1, 1)
B. (1, 2)
C. (2, 2)
D. (2, 1)

[image: ]
2. 
, shown below, will be rotated 180° about the origin. Which rule describes the transformation?
A. 

B. 

C. 

D. 



3. 

Triangle PQR has vertices P(-1,3), Q(1,2), and R(-2,-1). When is reflected over the line, what are the coordinates of P’?
A. (-1, -3)
B. (-1, -7)
C. (-2, -2)
D. (-3, -3)

4. Point P’ is the image of point P after a counterclockwise rotation of 90° about the origin. If the coordinates of point P’ are (-7, 3), what are the coordinates of point P?
A. (-3, -7)
B. (-3, 7)
C. (3, -7)
D. (3, 7)



5. 
The coordinates of point A are (-3a, 4b). If point A’ is the image of point A reflected over the line , the coordinates of A’ are
A. (4b, -3a)
B. (3a, 4b)
C. (-3a, -4b)
D. (-4b, -3a)

6. 
[image: ]Parallelograms JKLM and WXYZ are congruent. The perimeter of JKLM is 20 inches. What is the length of ?
A. 5 inches
B. 6 inches
C. 12 inches
D. 16 inches
G.10B (R)
1. 

[image: ]Triangles RST and VSU are shown below. . Which additional condition is sufficient to prove that ?
A. 

B. 

C. 

D. 


2. 


[image: ]Given: In this figure, and bisect each other. Based on the information given, which triangle congruence theorem could be used to prove ?
A. Angle – Angle – Side  (AAS)
B. Angle – Side – Angle (ASA)
C. Side – Angle – Side (SAS)
D. Side – Side – Side (SSS)

3. 
[image: ]Which parts must be congruent to prove by SAS?
A. 

B. 

C. 

D. 






4. 
[image: ]In the diagram below, . Which statement must be true?
A. 

B. 

C. 

D. 


5. 



[image: ]As shown in the diagram below, bisects and . Which method could be used to prove ?
A. SSS
B. AAA
C. SAS
D. AAS


REPORTING CATEGORY 5
[image: ]G.11A (S)
1. Triangle RST was dilated to create triangle R’S’T’, as shown on the coordinate grid below. Which statement appears to be true?
A. 
The center of dilation used to create was (-10, 8).
B. 
are congruent.
C. 
The scale factor used to create is 2.5.
D. 

was reduced in size to create .
[image: ]G.11B (S)
1. 

Given:   What is the length of ?
A. 11
B. 12
C. 22
D. 24

2. A man who is 6 feet tall casts a shadow that is 4 feet long. At the same time, a nearby flagpole casts a shadow that is 18 feet long. How tall is the flagpole?
A. 10 ft
B. 12 ft
C. 22 ft
D. 27 ft

3. 


[image: ]In the diagram below of , , AT = 5 , TB = 7, and AV = 10. What is the length of ?
A. 

B. 

C. 14
D. 24

4. 

If and are similar scalene triangles, which of the following is not true?
A. 

B. 

C. 

D. 

5. The ratio of the perimeter of rectangle P to the perimeter of rectangle Q is 2:5. The area of rectangle P is 12 square feet. What is the area of rectangle Q?
A. 1.92 square feet
B. 4.80 square feet
C. 30.00 square feet
D. 75.00 square feet

6. Two similar regular polyhedral have surface areas 16 cm2 and 64 cm2. What is the ratio of their edge lengths?
A. 1:2
B. 1:4
C. 1:8
D. 1:16
G.11C (R)
1. [image: ]A tree’s shadow is 4.8 m long on level ground as shown in the diagram. The angle of elevation from the tip of the shadow to the sun is 50°. Based on this information which of the following is closest to the height of the tree?
A. 3.6 m
B. 5.7 m
C. 3.1 m
D. 7.5 m

2. Billy is 74 in. tall, and his shadow is 70 in. long. What is the approximate angle of elevation of the sun?
A. 19°
B. 43°
C. 47°
D. 71°

3. [image: ]A truck is at the top of a ramp as shown below. Approximately how high above the ground is the truck?
A. 4.45 m
B. 3.59 m
C. 1.95 m
D. 1.75 m



4. 





[image: ]is an altitude of , and . The measure of is 55°, and cm. What is the approximate length of ?
A. 8.4 cm
B. 11.9 cm
C. 20.7 cm
D. 24.2 cm

5. [image: ]A ramp is 3 feet high. The angle of elevation is 5 degrees. How long is the ramp to the nearest foot?
A. 5 ft
B. 16 ft
C. 20 ft
D. 34 ft


[image: ]
G.11D (R)
1. A company packages their product in two sizes of cylinders. Each dimension of the larger cylinder is twice the size of the corresponding dimension of the smaller cylinder. Based on this information, which of the following statements is true?
A. The volume of the larger cylinder is 2 times the volume of the smaller cylinder.
B. The volume of the larger cylinder is 4 times the volume of the smaller cylinder.
C. The volume of the larger cylinder is 8 times the volume of the smaller cylinder.
D. The volume of the larger cylinder is 6 times the volume of the smaller cylinder. 

2. 
A fish tank in the shape of a rectangular prism has these dimensions: length = 20 inches, width = 10 inches, and height = 12 inches. What is the volume of water in the tank when it is full?
A. 1,120 cu in.
B. 1,920 cu in.
C. 2,400 cu in.
D. 3,000 cu in.

3. If a cube with side length 6 inches has its dimensions divided in half, what will be the volume of the new cube?
A. 108 cubic inches
B. 54 cubic inches
C. 27 cubic inches
D. 9 cubic inches
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